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[ s8¢ gad/wsduw/ Note :

(i) Bog ® yE»OEO BET socsm.
slebeoT ellTEEEHEGD el H[Hd.
Answer all questions.

(i) 1-40 e gEe (1),(2), (3),(4) BERSIOES BO10E ems Dt orgewd ewl BERNS emidh wxim.
1 (pzs0 40 suemguwsiten @euCeurm elsmmalgud (1),(2),(3),(4) een semieiiLiLl L efenLsefsd Ffuirang
Sisvsvgl BN QUTHSSIOTMIH 611 BRS6T SBHIHID @ eldLmwsd O5faoauis.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

(iii) 280 swess csos cyed &= 05 gdns vem § 18 DO eneds 22 emic o BEREY WO ©1eee
20s e (X) cne exigsis.
2 106@ aUPBSLULBsTen el S Teled @altaunr® elamas@d 2 flu eIl Lnkiseflsd 2 g
alenLuleit QevsEsHMS @55 QL SHHEIsTGen Lisitemgenws (X) DBs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

(iv) 00 ¢80 syed Bgue € a8 gens coeetd ¢ eBEEO osim.
el Sneflanr UBusssHed SIULLBsiTeN BB S YDISHOEMENUID HeUIOTS aITFSS SieuBBLI
Uetumpis.
Further instructions are given on the back of the answer sheet. Follow them carefully.

. % a8 &b ders £000c 8 qSedsiess sun egwsd 018 83 ¢?
Ueitumpd erbeugls QUWiTsEmen e1gl HyuUL Beiten uty @be o fluste ?
Which of the following are the names of the notes of the given bar?

L
% - — T
(hTEGC (2 GBE 3) G'BE @ Bt

2. T a8 0.8 dedded sdylien Bdadq 30 oemes’ dnnd cun ©ewsl D188 RO ¢?

6@l ?
Which of the following is the total number of beats of silence in the phrase of the music given below?
@J"vi =
i = 1 1
1) 6 2 6% 3 7 4 7%

3. § 18 £00ed g€’ Bedn DuediSs eededinw swn ©¢psd S8 o ¢?
SILLL Belen eveurSHaBE Ggusien Lwptmrels CFliGrmen Lesumaameaubpet ag ?

Which of the following would be a Diatonic semitone above the given note?

P P B BF—

ey @ 3 “

BBl syuuL Bsiten @ewel GuWFLen (W sevsisd LI Qe aatalldmaeuls sl BHOSTMS LsialmeuaTsuBpIs

)
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2 8 080 B8EemOcu0 and 00O A On wBybes B8O ewig OB wry @0t LD BT T8z RO ¢?
Syiul L enpuith AsCaEsmes giu G LTy Bl USHUTEGaSBEGL LWLIGSSSmgWl GFerdl Lsieu(meuseuBBIeT
gl ?

Which of the following rests should be used to complete the bar according to the given time signature?
*

) I « — T
Ié L") 11 1 ! ! ”
o vt @ v @ s iy eaeds

008l 2 8 @Iolnsl O vwn 6P D8 O ¢?
Gy 2 Q1 BFHCaITFH & DDLWEMQUS LaiaumeusteuBmist 615 ?
Which of the following would be the inversion of a major 2™ ?
(1) Major 7 (2) Minor 7® (3) Diminished 6% (4) Augmented 7%

sineE ‘eS8 gD’ ©gwI ewsIg ©BIZN RC B & g D183 @S ¢?
Caralsvmaflsy (LsiFs) ‘Cameld s e SDPSSULBL wFUfHwter eemes (Wenpulsd LWSTLGSSUILEGLD
Guenmimsit LaeumensneuBmIs 61851 ?
Which of the following drums are used in the traditional form of worship known as ‘Hevisi Pooja’ at the temple?
(1) Thammattama / Getaberaya (2) Getaberaya / Dawula
(3) Thammattama / Dawula (4) Udakkiya / Getaberaya

@3 doSced B 030 O 1 98 03D @8mded 8 exid O s Sednm eededis v SwD
00853 @23 ¢?

Buoggy evBaeden & CrT. GBEHL SiHen MHGuBIlsy evwer & CHTL @BEL Qe Cuiuisien CFLIGTTsiEsls sTamenldbame
Ueiteumeuenieubmis 61 ?

Which of the following would be the number of semitones, between the key note of a Major scale and the

Keynote of its relative minor?
M 1 2 2 @ 3 @) -4

2 @18 00genida ed.q D2 e®dl HeSE e¢n vy 6w D853 S ¢?
SIUULL QymmrCsr.. o siten @yenih Gogg) evGssverd Leieumeusieubmien sigl ?
Which of the following two Major scales has the given tetrachord?

O

’{ &> [® ] {

e o == }

©
(1) C Major / G Major (2) C Major / A Minor
(3) C Major / F Major (4) C Major / G Minor

2 @18 o088 B 88ex3Ocwd ©d O8 eSS 8mded 8 8Bes3Dds Bur grfes vwn SDi8x3 RO ¢?
sruuc L Gy & HaCanssiseisy Gnaid evwen] & HoECanssy UsnaumeusneuBpien eg ?
Which of the following major key signatures has its tonic minor key signature written after it?

7 Y 5 L}JV il
2 €)] C)]
C o®dced 5308 Qus swm ©gws’ SDr8s3 = ¢?
C Guogy @1 Ueomiogd Ugwil  LeieumeueneuBpien sigl ?
Which of the following is a Primary Triad of C Major ?
-0 4 i 9 /) "
W —8—H00 &G—g 30 G—— @ b—s 1
[Y; (3} o [J) Y] =~
08xY deomewn e@i18msI0 Juds d¥es,
amwen] sr@sedsd GLmlensB Ly,
In a Minor scale the Dominant Triad is a
(1) Diminished Triad. (2) Minor Triad. (3) Major Triad. (4) Augmented Triad.

21Gedn Becn O swe 80 g0y O SO gfed O swun e3¢ws’ JD8sS RO ¢?

0BT @B06Te MTlsd SPHHH UTFDUDTGD evulsiissien CLUWITHEHSESTER 6TIHHIHE6T LleiouHeuaTeuBBIsT 6151 ?

Which of the following are the letter names of the lines of the Alto clef beginning from the lowest?
() EGBDF 2 GBDFA B3 DFACE @4 FACEG

J
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22.

&00fwen BEeOED 2-3 00 7 -8 00 eesdedist @18 deEcs sum ©guns’ J0i8s @ ¢?

28 mss uohiGwenpuisy 2-3 wipw 7-8 @Be @eLulsd CECTeed @LbGUDID s Lisieumeustaubmieh
61z ?

Which of the following scales has semitones occurring between 2%, 3© and 7*, 8" in the ascending form?

(1) Harmonic Minor scale (2) Melodic Minor scale
(3) Major scale (4) Pentatonic scale

oD (50 @1 e300 e Bum ¢ BO10E @ecEn twodn 00 sum gwsl S8 O ¢?
BB SyLu Been erosurhiIBeBETE eTIpSLULIL(Been Ffimen SmpsCo FhSH erosuImibe Lisieumeusieubpish 615 7
Which of the following is the correct oriental notation written for the notes given below?

b

(1) IRi Ma’l (2) ISa Gal (3) IRi Mal (4) 1Sa Mal

‘@D 0® A we®’ §C Bowud OO vigenm Suncs suD egwsl SHI8sS RO ¢?
‘gnbge G gr wrBw’ egib peols UTLIBG W o &bhs elufliy Lsisumeseaumbmpst g ?
Which of the following is the most suitable description for the original song of ‘Shantha Me Raa Yame’?
(1) Folk song sung by Visharada Sujatha Attanayake
(2) Light song sung by Visharada Nanda Malini
(3) Light song sung by Pandith Amaradeva
(4) Nurthi song sung by Mohideen Baig

088 Juurs sre¢iert sun ©ews ROD @BIOOE Sy Be®x3 ¢?
Ueeumd @eiiGreusomsemei steupmlsit Caybemawired Guoggy Lywl oussiul Gereng ?
Which of the following intervals build a Major Triad?
(1) Major 3¢/ Major 3¢ (2) Major 3¢/ Minor 3
(3) Minor 3¢/ Major 3¢ (4) Minor 3¢/ Minor 3¢

‘e85 0D’ Oz @RS e0Ls DB WOD B BIeBFOB LD e3¢wsT S8 RO ¢?
‘ooflel ety gemnile Gued UG BMFESILGL s amel LsaumsusTauBmIsT 61 ?
Which of the following instruments play the Bass part of a String Quartet ?

(1) Violin (2) Viola (3) Violoncello (4) Double Bass

sOD s DoBS ereds BN’ g gge emddes RO DoriBe ¢?
Jeliupd sappisenst ‘Fousl Bhe UIGSSLDD FMBm oig ?
Which of the following statements is not relevant to a symphony?
(1) Is for full orchestra. (2) Usually has four movements.
(3) First movement is in Sonata Form. (4) Handel was considered the father of the symphony.

DIBBS, Co®BSB, Jo® DeSNHTEn I BLUBE IV DOD 3:BHOG B3 D33,
SMLdlwenolil wBEpId UL WellEEDHL6T BigsbsHed, UTHSL RLbOupd Bms bFHHE QU
A play, set to music, which is sung and acted out with costume and scenery is named as

(1) an Oratorio. (2) a Lied. (3) an Opera. (4) a Concerto.

‘eOB80 80" O g1 sbmer w80 WD DD OB e SD8s O ¢?
‘efds UF 2 oLw Cuisesst @amssanalssisl il Lb Uaaumeaseabpen g ?
Which of the following is a group of ‘Definite pitched’ percussion instruments?
(1) Maracas, Timpani, Snare drum (2) Tubular Bells, Timpani, Xylophone
(3) Celesta, Timpani, Snare drum (4) Piano, Cymbals, Castanet

Demeged Dims O CAD gue © 8D Ot ¢S HO8O 8> wredds s €3¢2023 S8 @z ¢?
gaerogeled GmassiuBh 2 wj UF et e elan. @massnel Uasumaamaubpst ag ?
Which of the following is the highest pitched woodwind instrument played in the orchestra?

(1) Clarinet (2) Piccolo (3) Flute (4) Bassoon

Ree3gdn B8 (emziesd ®eddl) S8,
@aerogrelen seneveuy (CaTen@FL  Lomerdyiy)
The leader (concert master) of the orchestra
(1) conducts with a baton. (2) plays the Oboe.
(3) plays the Cello. (4) plays the 1* Violin.

J
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%’\ 9! . = : 0 > >
L (€)) 2

¢ 818 82850 O D DOY CAD §IISe SSSITOD O ¢OTes vwn ewss SD8sS O ¢?
SILULL @IeGieh gaiflenan @asss Cousmigw (perpuiensn (WpawwWTsd &1L Gaug Lsdumasieuboist sg ?
Which of the following ornament is written out in full as it should be played in the bar given below?

9 £) ] 1 H

D s
=, =, 2= , A=
D=2 @ < ©)

& 218 go greds ePeyeReds 8y 838 v ndued qcwLORs eIERD® ¢ LBoREsS 83 w.Bn

gow dx3es’ 8x3 00 ¢?

STUUL (Beiien  Bened  sMevmsEhe  @bligevevaleiofis gelwisst wHpd selepisenTed Hoe D15 H61T

OssbauTsdBEe 2 L UBSSUILLL S 616BTHHH GD 7

In which of the following periods of music were the composers influenced by Impressionistic painters and poets?
(1) Classical period (2) Romantic period (3) Modern period (4) Late Romantic period

'90td & eDIHALNE OBED’ Bos @Iz DOT E1ged,
‘@bed g Oeureaiijeysd Geufsbl’ LTLensvll LMiguisy
The song, ‘It’s a Wonderful World” was sung by
(1) Louis Armstrong. (2) Duke Ellington. (3) Scott Joplin. (4) Charlie Parker.

300wz 8D O gueg B8we 80,
avaIrHFHed L1F o wijaures Rmabewneungl,
When the pitch is higher the
(1) frequencyisless. (2) frequencyismore. (3) no frequency. (4) none of the given answers.

Demeied Digs 0redd t3ess BOO ewr Bediedss Digme ©OR A HOdens Budss B OGS ¢?
gaeoTeney flulel QFlgBe @euTelamsd amdlssiuGd ebauysHds SiFlT0suem Leieumeusneupmiei 61%1 ?
Which of the following is the frequency of the note given by the Oboe to tune the orchestra?

(1) 220 Hz (2) 256 Hz (3) 440 Hz (4) 512 Hz

8 o109 @38n80ws e ©1eSe emmises 83 »0d ¢?
Boominaulsd FIWEFFLHIGHEDHT DILKBTHH LsTaumaiauppst oig ?
Which of the following does not belong to rituals in Sri Lanka?
(1) Vannam (2) Kohomba Kankariya (3) Gammadu (4) Bali

0B 80w 8s greds 98s Sec8» »dd BulE Bum clod YT ¢?
Usieuplo Qs bGaisere ‘oulen soulsr Breom Gens slpdwieny wiry ?
Which of the following composers wrote ‘Eine Kleine Nacht Music’?
(1) Haydn (2) Mozart (3) Beethoven (4) Handel

@@055 gowd gurt e.Bnmn @8 grneds’ mOec ¢?
Qi s stsPBGAL Rews wsGaT UseumGammst wry ?
Which of the following composers belong to the Modern period?
(1) Bach (2) Berlioz (3) Beethoven (4) Bartock

‘@020 eenlens v gbds SBRO ewigm DB BEw Bum SDIBx 8= ¢?
Ut uthidls)’ FRIBSHMS BOFILGBGU ULSTUGSSID @saTellw usb deeumeuaauBDisT 615 ?
Which of the following is the Italian term used to play music ‘in a singing style’?

(1) Cantabile (2) Dolce (3) Atempo (4 Adlib

©30200002 WD e20es GESedsie swm el $0i8x R ¢?
Cerepprals Ursten UGHosmeans &1 Gag Usiamasiaubpisi s ?
Which of the following are the main sections of a piece in Sonata form?
(1) Principal Theme / Episode / Principal Theme (2) Minuet / Trio / Minuet
(3) Exposition / Development / Recapitulation (4) 1% Subject / Bridge passage / 2™ Subject

00 00 oG D1 WE YR AD qEFedsient swy LW DB OD e?
Boses abaurkhss GmessluBamss GElLS) Ueieumeuseupmisit 6181 ?
Which of the following denotes that the notes are to be played smoothly?

3 “@ J
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34. ‘805 1538 ¢ G 8 g Bewldms ©0stess swn 636wt O® w.Bn wiede ¢?
‘Ubmy <. & eusvel’ @0 weneiemwll UpdPdsaeniubssid Qensssmel LsiameuamsuBulst eig ?
Which of the following instruments plays the music to characterize the cat in ‘Peter and the Wolf’?
(1) Oboe (2) French Horn (3) Bassoon (4) Clarinet
35. 80108 ece medd) 0 18 8¢0¢ swm tewsl S018xs3 @3 ¢?
Fflwren wenpulsd &l LondasiulL fign UeisumeusieuBpiet es ?
Which of the following rhythms is grouped correctly?
$ LN TR ¢ LJRR 0003
¢)) 2 3) )]
® 36 80 40 =50 yE» > E S Bn RS O Be»® ©.
36 OzTLssw 40 suenyujsiten ellemdssit HILLLBeien @enall QUWITIML SIQULISLILTSS QBTamIL ey,
Questions 36 to 40 are based on the given extract of music.
Vivace * R. Schumann
0 N T T I l ! s
e 7!557757 === ===
[
¥ —
A
] . :5 .
S == =/=L%‘ = =
e i ¥ 5 ' 7
3
N \ I : A N
IAY 1 N =, 1 |
[ T [ >3 1 [*] H’ (™) : :E
ANS".4 | > L ! - d £ =
[} - bl =)
A ' } lk\
1 1 I |
36. § 1B e8> 2eddo egw BOcE 088 B8derOcs swn ©gws $08x3 O ¢?
SIUUL Bsien @ensls QuwiFiiBarer sfwrer engulld A&BaiFasy Usumasiaubmist sig ?
Which of the following is the correct time signature for the given extract?
(1) Simple quadruple in quaver beats (2) Compound duple in crotchet beats
(3) Simple quadruple in crotchet beats (4) Compound duple in quaver beats
37. & 1B .80 dedded B vof @50 08 8 O Drfer’ vwn tgws S8 e ¢?
SIUUL Beien el Quwiidlel & gaiflar PlCuBplel e & e SMLWS Smiguig LiaalmeasTouppisi
61gl ?
Which of the following would be the relative Minor key of the key of the given extract?
(1) D minor (2) G minor (3) F minor (4) C minor
38. ‘ed®ewm @S 8 gl qEediest vun ©gwsS S8s e ¢?
Ueieumeneneuipisit 61 ‘QuGur s’ el &EHHSTGWL ?
Which of the following is the meaning of the tempo mark?
(1) Going at an easy pace (2) Rather Fast
(3) Broad and slow (4) Lively
39. § a8 080 dedded 0@t emide Btind dxless swn ©wsl S8 O ¢?
SIUUL Beien @enals Guwiiier Gued uGFeow elaufiiug  aeumamBDeT 615 ?
Which of the following describes the Bass part of the given extract?
(1) Accompaniment (2) Melody (3) Rhythm (4) Harmony
40. @518 oo cnes 0853 ¢80 1B Qud O DO e Bednd Dnless v wewes 08 O ¢?
ury 1 @ev pLesdis PG apeod &TLLLGL CLiwul geamfemen Bss Apiuts elafiiiug eioumaseuBbpisi
61&1?
Which of the following best describes the Triad marked with an asterisk in bar 1?
(1) Tonic Triad 1% inversion (2) Dominant Triad 1% inversion
(3) Tonic Triad 2™ inversion (4) Dominant Triad 2™ inversion

* %

[ 6008 80 Bed®. / us. 6 gl umjds / See page 6
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| General Certificate of Education (Ord. Level) Examination, December 2014 )
f 2.8mw (gdiw) LII )
FRBEHLD (CensudCahHul) I 11
Music (Western ) I, II )
LP .
@oBms (gedtw) / srdsn (CuwmensBsws) / Music (Western) IT
(% OCBOD yHE»DO B¥ HOS H&ED HDODO BENT; 6O BYed ® eissm. )
* 008 gd» vpwd 8Enc OF MBMOBH SO w1s 9nd.
# (oMb eflemes@ Coaid BIeIg alamssasch BSSTaMCalw ol smen 6psis.
# elambsensata aloLamen @ Gwmfulsy ISy awaissn CasmiBid.
% Answer question 1 and four others on this paper itself.
(% Questions should be answered in one language only. )
[ B0 godes / s GLen /Index No. .........ccoovvvviniiniinnann.... 5

1.

®

(ii)

(iii)

(iv)

8 (a) 8 € 918 00 @ w>Hdw. (b) domed Al (a) 8 & g8 €300, & 1B Secd O @) O® 80 dezs ©

210 Buzim.

ury (a) @sd sruuLBefen eveurmsemen GuwfGs. (b) @sv umy (a) Bed SFUUL Been evaugHms (CBHIL) SHIiLLL

&0eme U1 LWETLGSSH i85 & @60 e 6119EIs.

Name the notes given in bar (a). At (b) rewrite the notes given in bar (a) at the same pitch in the given clef.
(@) (b)

e

—6): ‘)g
NAME 3 smssmmssmemonss o s s amn s SR S o S558 Fiamon © vt L el e e e e s msets S8 S s

(@) omed 8 g8 00D D8 gwe @010 ewdedimnus Bumm. (b) Bdimed (a) 8 By &dced
O530:50@15328 9838030 O Bwusim.

(a) @0 HyuuLBsiten edeursms ol o wijeuten GCmwpHd CFOCITEe sipsis. (b) @sv (a) @eb erp&wW
oIS Flel sTeapTjGonais FHEeuevs B DmeT 6(1pHIS.

At (a) write a chromatic semitone higher than the given note. At (b) write the enharmonic equivalent of the note
at (a). (a) (b)

(>

ABND

=

300w 32020 I8 we W18 PO WSS & ¢S 3013 Bers LoD O ¢SOB3.
avaIhSlen CuUTHISMS JFEfEGD (popenw SCpujsien adjTe @sd @MUl BL6i sIpAH BT (Hé.
Illustrate in the staff below, a way of lengthening the value of a note.

(a) BOrmed @=odE O 2@ SusH. (b) med @ lwrss O 0@ @z30dE Oz §230@ws3 B O
28 »IS.

(a) @b syi Gsiten @eiGyousneols GQuWABs. (b) Bev o _siten ReiBsuFenen GuBeumigss ReCreusd (Lenmuisd
W, s QUUFGSS.

At (a) name the given interval. At (b) write the inversion as a melodic interval and name Iit.

(a) | (b)
F—0
D
. P
INAME OFINLEIVAL 5s0msvms somvsss sonmsnnass sinmann s arr s A s bt o siinsio sl s siwamenie s srs s S50 £ A A S oo = J

[ 7608 809 dea®. / ud. 7 g unjés / See page 7
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V) (2 o9® By waBwzs »® mSusm.
LGrraymb W ds @&t g6 ussienwl GUWGS.
Name a work of Programme Music.

(b) 2828 eni® dewz’ By ®eBw @¢dx edes gdes’ O 8 O e ¢?
euerf ..Gumb Bed o _sien HWLSFe @reviLtaug uGHWsT BmPes & wrs ?
In which key does the 2™ section of a piece in Binary Form end?

(vi) B2 Daews’ B8wiendd 3w dne By @@l Joud gur B.dnwwun »® Bixm. By S8
Srfmewnzs ¢?
Wpsmemnons JwrBemm GarLjurs @eve epalw Crrorenfle stesdBeiu sEGeeIt QU@ s

a56sFHIBE@flweny sed GBHUIGS.
Name a composer from the Romantic period who wrote mainly for the piano and give his nationality.

(a) Naifie Of COMPOSET =  (eoimsssnirsiarii et b B e sess e

(b) ‘Nationality e B N R e i i e e s s MG e

(vi) ‘8 3.8’ e3¢®r @i ®IBN DI .8 PR ecodE O TBI.
BMHH @end @0 LWSTUGSSLULGL UisTen @engs smelss @resngenan CQUWAGS.
Name two main instruments used for ‘Nurthi Music’.

(viii) @CediBewi ©y Reecids end ¢ 8™ eOntn® ecodd Cwzim.
upImCur @b eturt @bBeL BaLuissien @FeHiG SlgliusL CapLTHEMmeT TIDGIS.
Write two basic differences between Oratorio and Opera.

1T sesmososten ot e e P T SO ATt e i AN R o

(ix) F=ecd ewsigr D ©e@®ifs 08m8 tefeed edfs Jud, sgfd» 9x3dbazl O Butm. 8 8dex3ods
©wgzIs.
F&Qensy @enes nwsiuGsg) D ammiGonafis evwany sroCaedst Cmeflld Lywl (wpoeorh ReiBajas Qe 61psis.
& A&BanFFenyll LWSTUGSHDIS.
Write the Tonic Triad, 1* inversion of the harmonic minor scale of D in the F clef. Use the key signature.

(x) B 8destocw 0w F wibd 0808 efced 9z30080d edsinn egwr emig oximn emid ecend 30
Busim. 800DRD swgs’ ediey D ewigsis.
& falassmLen F agmjl e ebCzsd @1 @empigl 6o @Bansll LLSLGSSID Breand Gsrl s
Qe DL Pewen G(PHIE. TOATEEEDES H6 CIosT BvEsSMSBL LWSILGSHS Seubeons GHLLGs.
Write the root of the two chords that form the Interrupted Cadence in F sharp Minor with key signature. Indicate
them using Roman numerals below the notes.

A X | |
_6'. | |
Z |

u )

[8 005 8Q0 beda. / us. 8 @i umSs / See page 8
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(i)

(iii)

2. & 18 dedcd e g8 ©88 Bustm.
CaemauiTen srOBHEMEL 6T(GIS.
Write these scales as required.

€ @18 e300w @80 0200 O ece evm B 8dexOds e 80 088k e O gredines YOO Buzix.
80as 00E ¢8RO ewitsim. el ewig ee®edisl Cre DIED.

SIUULL evoauysbdenen eSign CrT. &b Catemip & Falagsy @svevmiosd Gogg) evlamed @ UCTTEM (Pevpuilsd
&S, Comauar B hiseled DEFOLMTLeD gl LWALGSSHIS. FBvfed gl LWELESHE, CFdGTaeD ®é
GNSHIS SHT_[HE.

The ascending form of the Major scale, of which the given note is the leading note, without key signature,
but prefix the necessary accidentals and mark the semitones with slurs.

I5+= l

B dci0 @88 8 o0cd0 088 Hemced 0101 end® ©m, gredines 1 gdedines OSO,
B 8PexDde ewxie & @18 8Os ©18n 0 Buxsts.

B . .9em’ Guoggy @6 nfiGsupniiel emwen eroBssd et ammyGuorails ..Gumb Gemen CiTEew WHBEMID eyt
woopuled & AsCaFsamgl LWSLGSS, SIUULGeTen fHd @evaTD LWSTUGSHS 61IEIS.

The Harmonic form of the relative minor scale of B flat Major, ascending and descending form, with key
signature using the given rhythm.

W g T DD LT,

1S
<Y
[Y)

g 918 305w’ gc®® WJ gredines HOBO ewdFD ewig ewiE eddss tersEe Buxsm.
SIULLL ebaugsSled QIbldg wlimesn gunadls Csulliiifsed LwuaLGSEH CarslTear eBselamen 611pSIS.
An ascending Whole Tone scale in Semibreves beginning on the given note.

) o

y 4

>#

3. (@)

80D 83¢0s3 @BI0OE O DOBIH.
Ueiieumid @eiiGreusverdy @emennt QuWIfBs.
Name the following intervals.

= = bo

ht\
'm gg —
0 =

NamEoffinerval cromemsspeassmsmmn 0000 sivmeseridaiieh ettt

J
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(i)

(iii)

oD § ¢S Qud g0 18 ©88 Buxdm.
&Bp syuu Gsiten Lywl Benen Cxemeuwten B missisd TDSHIB.
Write the following triads as required.
(@) Aoe®dded 8 Dm0 Juhed ecdn eldbass O B Bdem3ds usn &
A Coggeny g0 GLmbenenp Lgw B Syewiteug SeBaige 8 & faBenFsmLen
2" inversion of the sub-dominant triad of A Major with key signature.
(b) Ce8nded e@diBs Juded 10 eeBex &n 8 B8dexddw ©250®180
C wenfled Gyreflés Lgun. Qe mm Qurdgen gaflenan & HeGaiFs Bevevmosd
Root position of the tonic triad of C Minor, without key signature.

@ (b)

.

" &
P

(a) BOcg 088 BdexIOds ewicxsi.
sfluren engib AéCanFFmIl LWSTLGSSIS.
Insert the correct time signature.

A
1N
7

O 3 o o4 < g

(b) @®® 3.8 DeFDBO RBOGR 08O BPeOSs w0 g€ b 8 ewigsim.
st Bewsd g sHen Fflwren eojuid HéCagay LBEID DSBS UT] emeveiismens BFjds.
Add the missing bar lines and the correct time signature to this passage of music.

3
% o R ——— I i

- —

)

[y

(iv) o (iii) (a) 8 & ¢18 e®cSs oded Secd 020 25000 O s’ CAHPDEO DIEDB DE WIS §zICEO

Bazdm.
GuoBev (iii) (a) @60 sy Beitem GuoGsvmguiei Guerd H@smsi Boen @&Cre @AnE STpans Cuest G Q& sEIb

(PODBOW 6T(DSI%B.
Transpose the melody given in (iii) (a) an octave lower to the bass clef, so that it can be played on a

Bassoon.

oD 65053 0238, § @18 B dem ewinend, #1Eeds © eO®Y emdes @042 e0gben 0T, 09D Hezs B
2 ® mSEI™.

Ui G sensn Sl Beisn & @b QamiiyCen, IOBEBT BDID Cren) AW UGHSsament UWISTLBSH S
Wisd Osuis. Carl Ge & i CULAGS.

Complete the following chords in the given keys by adding parts for soprano, alto and tenor. Name the key of the chord.

(@ (b)

[Y)
D SIS
\Y \4
KEY'  citinn mummmmmm smis sommgmsn KCY ..ovninn s vomnvnssmsenins sivnciin R A

J
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4. oD 35w B Defs OB 20, g0 ¢S YRHORO BERST ewsID.
deieupd @emsls ugHews sbp S6p SIUULGsien ellamésense ol f1psis.
Study the piece of music and answer the questions given below.

Minuet from “Don Juan” Mozart
Moderato 2 3 4 5
—— ! |
=g g ¥ E:_q:p::
| 1 1 1 1 u i ' # T 1 3 T
p — —— ’_ —— ]
: = £ - == e
s = : =i £ ] ======
Bed, | od |
6 7 8 9 10
04 ——— PR T - e e S — T
1 1 "] 1] 1 1 I gi: r : ; l;| ! 1 L  _ 3’ =
1.~
? (i | ——vy_. 7] 1 t {  —— - l’ - . j
T=—1—F — ——— = _—=
.) .4 ¥ 4 r 2 — r A i f‘
. J . ]
11 12 13 14
4 - g e o g o p £ 2
G= T ——+ £ —_— - :
N e e e e — —— P e
D) .F 'f- r - - > L 4 [ 4
o 1 P | o J 0. |
5~ 16 17 18 19
® o =| A Z e s
— 35— 3 8 3 3§ I3 2
f i 1 1 1 1 1 ll I
. e p —_— —p
é—fi =‘i .‘{ = : —— = > ! ] & 2 e
D 5 v = Y o i : = t . f
L ] od. ] Bed,
20 21 22 23 o~ 2
’s ' e o o o o o £ 2 > e J
——— f ——— l
7 e - " A ! r 1
! =—r 2 e o 5 !
| i ’ " -'F' . . ! Perfect Cadence i}
— e 1 T ]
(i) o®® .80 dedds Buwo grfes RO B deo ¢?
Qi Qwss FIMILLD 6hD & GO 1S Beiteng) ?
In which key is this piece of music written?
(i) 088 BFex30ds Bedms wo=sm.
eguib FaCeanFseny elufbes.
Describe the Time Signature.
(iii) @& 5 - 8 2390 e30Brcs e®18yeEd edxies’ @®im B S290 ¢?
utg 5-8 ey @eovs abs & @B GomguGn QFeEmE 7
To which key does the music modulate from bars 5 — 87
(iv) oes 00 emzs Bud B eSS QuOOE 3906 DG53 53,
Guerd LEAulsd sTpsLILL Beiten Gymafls Lyuwn. @gentw TSNS iDL LILSGHUIBS.
Bracket the notes of the Tonic triad written in the Bass part.
- J
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5.

(V) 008 t3.8» dedted eni® On 8= ¢?
@6 @med @I GHer . .6umb wrg ?
What is the form of this piece?

(vi) gBRes’ O ece Digmys OB LBO0w IH® DIBID.
welsst s Bsbslulh eroauysdemar el L R6o.
Circle a note that is played as unison.

(vii) 10188 »ois.
aflend@ .
Explain:
(B) MOMETAID = nvcmevsmoninaios emomismiomesseisisins sinminisins siasio/sait om0 Simeits o105t :aisacs smie e rsn oo s i @ SRR o6 or e i

b) T T T - o e s =

(viii) @823 -24 8 g8 “eenz=0 eiens” ednben S8 gge 6300 g1Ge, @Y, @ded ©2900t3 650 ©wIg 3.
ury 23-24 @sb o _siten ‘CuyCusms CaLae’ @i Widd CFUasBE CUTmSSWTE aoaIHme SieoBepT, e,
Buerd uEHsementt LWSTUGSHDIS.
Complete the Perfect Cadence at bars 23-24 by adding suitable notes to the Alto, Tenor and Bass parts.

(ix) @8 ©3.8» VeFDs OB YOO w1t ¢?
Bl QenFH HIWILLD 61BBTVHIHBSFWSH ?
To which period does this music belong?

(x) €8 Y gd amed wodnns GBecn ©20 ®1010es’ s R de & ¢?
WH6L 61l B UNT®s 2 _siTenmseons Rend G Hoensy @BE LOTBBLML UG 6hSH LT Red Q@& ?
In which bar does the music change into the G clef within the first eight bars?

(i) (2) ©Beeld O ox ROS '8 e3ewrs’ BB ©J, 6 ©IdD 205 BYBHE eni® O O BowH.
aUGETL eleIUG WG 6INF FHEHLTE alendd, SiH LWSLGSSUUGDL Wuidlésed . .Cumberd Geneill
Quuwf(Bs.
Briefly explain what an Episode is and name musical forms in which it is used.

(b) @023 eni® Ve ‘QsiBes’’ emedsl westdrles’ S ¢? 6 wewr EONS 28 Busim.
Qaremnmpr ..GuTd Qe ‘Jreiflssr o oPwinGas wig ? sgpeflu Coup QU] eugaIs.
What is known as ‘Transition’ in Sonata Form? Give another name for it.

J
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6.

(©) ‘emiDn oo oy RS §'8 emdewnz’ 10188 wozT>.
CHILT aIUS WIH G6F HOHSHOTH elnbEGs.
Briefly explain what a Coda is.

(i) ev» & g8 O@d e®nlien OB
&8l SLILL BeiTeN i L auenemieniLl uissd Csuis.
Complete the following table.

Four main periods A main characteristic A composer of Name of a work
of the History of music of the period the period by the same composer

1. | Baroque period

2. | Classical period

3. | Romantic period

4. | Modern period

(i) O ® cealud gur BEnC: de3bus 0wigeos o e®cBu iyl HoBI>.
@0y urhideorear el BenenLl LWSLGSE, Bbs Gwsmgamwil Lisd CFws.
Complete this melody by adding an answering phrase in the same style.

Andante

o
T
[ YRR
QL
i

I
I
r A

N

!? - T =R R ———
D i
Lo 1

i

1o

<
[

H:J::

(i) woo & e 0o w.dn 00, AOBS .o HSOIOEO s808DS OB,
BBl SyLUL Bsiten SoHCHL FRSSH LSS Cuamnslal FhSs aaISIDEG WLIBBIS.
Convert the oriental notation given below to western notation.

e o _ el @’_ce§§_l5_©®| e _|

(i) (@) ‘Pl Sowsd 88 O OB 2.8 edecne RO ¢?
‘yuren @IasABE& Fwwiar CLmESEHL FRSDH eoBsed wingl ?
Which scale in Western Music is equivalent to ‘Bhupali Raga’?

(b) BEnd wew coweass & g Bocewss gd®n nC swdz & a8 edded Buxzim.
L sETE o SaSHms SIUULBeen ey ubiss &6l SruULBsien eoBrell & EIPSIS.
Write an example of the answer in the stave provided below beginning on the given note.

S

[ fan
NV
0 o

7
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7. ()

(i)

~

@) o8 § ¢18 onid giBesaritd ©i8n ©C Bl 05 B oD ¢PD !B B> DeFOs ©®ybes
DO,
@G syuuLBshen CaT. QengCassiiat gl LLATLGESHS Cuard abaursams s, &8 &ML UL (Beiten Bena s
ST SHOFL LJHH QFuis.
Complete the following by writing the bass notes, using the chord indications given below.

Dhgd | =— | 2 —— |

&

I

uE

I Ib v Ib A% I

(b) e®0ex0eIIOES Buwr 1B 800 wwgxst g @18 90 Busim.
QureibCrrafisd HyiuL Gsiten Agbed @b &G STUUL Belen  QEmBaenen 61(10SI%.
Write the given words under the rhythms pattern given on a monotone.

Think of the presents you've brought,
Any merry little thought.

Think of Christmas, Think of snow,
Think of sleigh bells, here we go!

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

(@) B Eo1ed ROBS e30w1dxs Qent3HNds »® »SI.
Bevmenauied CwenevsCaw Freddfll susnsulsomean @aeITamalll QuWIf(HS.
Name a Western classical orchestra in Sri Lanka.

(b) egSfencrienss D8 81853 Homon 0. 418 Qenesded D¢ woedl) 29eBIEO 2O 2553,
UTIDeuLTeN SEhd6 WeH SMSHed o sien gaevyr Gemss a0als Gueal QuUfGS.
Which section of the orchestra is positioned furthest from the audience?

(©) o e8m D¢z ©redd) BHEO gt 9B wredd) »® 20, em3ewks’ Sed »0=3m.
BIbys sGelseia GEOLUSHBG 2 flu Bossamalsment QLWL B, sGsEswTe alufses.
Name and describe briefly the instruments of the string family.

€)
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